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is a storage device to which the user can write information

only once.
(A) DVD (B) CD-R (C) CD-RW (D) CD-ROM
( B )2.Inthe method for synchronizing the operation of the CPU with
an I/O device, a large block of data can be passed from an I/O device to memory
directly.
(A) isolated I/O (B) DMA (C) interrupt-driven I/O (D) programmed I/O
(B )3 is a memory type with capacitors that need to be refreshed
‘ periodically. ‘ '

v (A)CD-R (B)DRAM (C)ROM (D) SRAM
(D )4 TR e RERHR? |
(A) Level-1 cache memory - (B) Level-2 cache merhory (C) main memory-
(D) registers '
( D ) 5. To flip all the bits of a bit pattern, make a mask of all 1s and then
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5. R4l XOR 0 B il 6 4R 281 o

the bit pattern and the mask.
(A) OR (B)AND  (C)NOT (D) XOR

(‘ D ) 6. In the ihterrupt—driven I/O method, the CPU informs the 1/O device that a transfer is
going to happen, but it does not test the status of the I/O device continuously. The
I/O device interrupts the when the I/O device is ready. -

| (B) ALU (D) CPU'

( p )7 Single-sided single-layer(f & # /& )4 DVD #5175 & &47 7 ,,
(A) 4.7GB (B) 8.5GB (C) 9.4GB (D) 17GB

( D )8 —{8=i#4xF (unsigned integer)fx Z £ (left shift) =4 744 » FAE % B R ed
(A) 0.5 4% B2 (00254 (D) 4 4

(A) memory (C) instruction register

( C )9 Ifyou are adding two numbers, one of which has an exponent value of 7 and the other an
exponent value of 9, you need to shift the decimal point of the smaller number
(A) one position to the left (B) one position to the right

(C) two positions to the left (D) two positions to the right

( D ) 10. The strategy behind the
do a minimum number of simple operations.

(A) Penttum 4 (B) Von Neumann
(D) reduced instruction set computer

=~ RER #BHE3D)
1. Show the result of the operation: (99)16 OR (33)16 AND [(00)16 OR(FF)s]=(_BB ).

(C) complex instruction set computer

2. B H CDME XL L wmpact  disk

3. CPU #j machine cycle A 3 18 steps: fetch ~ decode ~

xcute °

architecture is to have a small set of instructions that _

6. — 4% disk #3 access time = seek time + rotational time + transfer time * ¥ 3% 8A 47 3§ seek time ?
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7. Explaln the difference between SIMD and MIMD.
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8. Mo

st computers typically spend 80% of the time accessing only 20% of the data. The

phenomena is called &o — 20 rule.
9. 3%@& ROM & B & HEXRL_rend only wempry °
HEH USBHEEHEESL_ aniversal  serfal bug o

11. Adding the followmg two IEEE 754 floating-point numbers (32 bits):

1
0

will get the following IEEE 754 ﬂoating—point number | j0000]]0

12. An i

10000110 10110000000000000000000

10000010 01100000000000000000000 - -

joo] |0]D 000D 000Y 0OQD

0000 008

imaginary computer has sixteen data registers (RO to R15), 1024 words in memory, and 16

different instructions (add, subtract, and so on).

A)
B)
©)
(D)

(E)
()

What is the minimum size of an instruction in bits if a typlcal instruction uses the
following format: add M R. | &

If the computer uses the same size of word for data and instructions, what is the size of

each dataregister? -~ [ &

What is the minimum size of the program counter in the computer? __ 1 ©

What is the minimum size of the instruction register in the computer? 1 g

What is the minimum size of the address bus in the computer? o

What is the minimum size of the data bus in the computer? (8




13. & T B A &K L2420 —18 8 £ CPU #44]F - &+ Program Counter #3555 &

PCPRFERHME R BY cPu T -G B Ea4TEY =T o

14. #: E#§ - The value in Instruction Register is 1400 » What will be done with this instruction?

Load Ry «— Mo .

15. # EA5 - 3318 CPU T4RA &4 ey CPU? b bitg
16. 8 b5 - tw R %% JUMP 348454043 » FRAE 1848 CPU &4 & 8 1144 2
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17. # AR - 3548 CPU 7 4 % memory-mapped /O addressing * & 3§ ?

.o Y
B 1(0 device Fo memety % BEteaRE

18. = k78 - The CPU doesn't have the subtraction instruction Rp<—Rg1-Rs2. How can we do the
subtraction? (3518 CPU it 72 & W18 ¥ 2 2 iRk 6935 4 Rp<Rsi-Resp 7 4o R E 40 18 S8 &k

REE O REBREREMT) .
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A NoT Kslé_ R¢a - DEC Rgz
INe Rg, NoT K¢y ¢ RS,
ADDL R, ¢ Ry +Rs, ADDT &— Rg, +Rs,

§R 25 complete BFR b,

19. #=E3 ; PR TREEABRRNE - ITHELSREWITHS A AMERE ?
(IFFE)i6
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(Q40F)16 = ggg 0 store  Muw e RE
(10404
(BO00)s =
(A000)6.
(2410)6
(1F41)56
| aFFRy |
(0000);5
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=~ #%## (10 %) : Using the instruction set of the simple computer below, write the "machine
code" that inputs two integers A and B from the keyboard. If A equals B, the program displays the value
of A, otherwise the program displays the value of B. (341& T B & CPU #4445 F > &3t — B " # B H_ 4
R CTHRERAEGRBRARELERKAFRB BEHBHARZFTENB R AFENBRIE
BEFRBETANE R AFENBRIZBZRRBETB @ RERBEREKX )

po LOAD R, «~MFE (A) Lo PE
ol LOAD R, « MFE (B) \WFE
b2 JUMP R, o5 vios
03 GTORE FF Ro >EEe
of HALT | 000?
o5 STORE FE Ry >PF
oy ALY 000 °

Tablé 5.4 List of instructions for the simplé compiiter

Stops the execution of the program.

Jtoap [ [Rp [ Ms  [Rp—Ms

[sTore | 2 Mp Rs Mo+ Rs
: AbDl., '3 | R | Rst | Rsz |Ro*=Rsy+Rs2. %ﬁf{ﬂﬂfﬁ :
= . 2 |Rp+ Rsy + Rz @ﬁ.ﬁ%{ﬂnﬁi

Instriotion
— Register -

[Rp Rs
NOT 6 Ro Rp+Rs
OR | 8 | Rp | Ry | Ry |Rp <Ry ORRy; " ; _ E
XOR ':, 9 | Ry | Rst | Rez |Rp= Rs{ XOR Rsz v : 00 ]
INC A R —Rel or |
s e - — Program

e © =t (300 ¢ AU R [ e o 18 £
sl s R S {718 ;AL R - 0"
JUMpP D IF Ry # R then PC = n, otherwise continue 1
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